
次の極限値を求めよ。(Ｎｏ．２)

(1)  
.n *

lim 4 5-log
1

n
6 70 1+n 1 0 1+n 2 0 1+n 3 …0 1+n n logn

     =
.n *

lim log
1
n

> ?
0 1+n 1 0 1+n 2 0 1+n 3 …0 1+n n

n
n

     =
.n *

lim
1

n
log 8 9

+n 1

n

+n 2

n

+n 3

n
…

+n n

n

     =
.n *

lim
1

n 8 9++++log
+n 1

n
log

+n 2

n
log

+n 3

n
… log

+n n

n

     =
.n *

lim
1

n =k 1

n

P log 8 9+1
k

n

     =Q 0
1

log 0 1+1 x dx= 0
1

4 50 1+1 x log0 1+1 x -Q 0
1

dx=2log2-1

(2)  
.n *

lim
=k 1

n

P
k

2
n

cos8 9
2k p

2 2
n

     =
.n *

lim
1

n =k 1

n

P
k

n
cos> ?

p

2

2

8 9
k

n

     =Q 0
1

xcos
p

2
2

x dx=Q 0
1

cos
p

2
t8 9

1

2
dt =

1

2 0

1

< =
2

p
sin

p

2
t =

1

2
%

2

p
=

1

p

(3)  
.n *

lim Q 0
1

=k 0

-n 1

P
+2n k

x dx

     =
.n *

lim Q 0
1

0 1++++2n
x

+2n 1
x

+2n 2
x …

-3n 1
x dx

     =
.n *

lim 8 90
1

< =++++
+2n 1

x

+2n 1

+2n 2
x

+2n 2

+2n 3
x

+2n 3
…

3n
x

3n

     =
.n *

lim 8 9++++
1

+2n 1

1

+2n 2

1

+2n 3
…

1

3n

     =
.n *

lim
=k 1

n

P
1

+2n k
=

.n *

lim
1

n =k 1

n

P
1

+2
k

n

=Q 0
1 1

+2 x
dx

     = 0
1

4 5log +2 x =log3-log2=log
3

2

(4)  
.n *

lim
5

0 1++++1 2 3 … n

2
0 1++++1 42 43 …

4
n

     （分子）=
5

> ?
1

2
n0 1+n 1      

     （分母）=
2

< =
4

n > ?++++
4

8 9
1

n

4

8 9
2

n

4

8 9
3

n
…

4

8 9
n

n

=
2

< =
5

n > ?
1

n =k 1

n

P
4

8 9
k

n

= 10n
2

> ?
1

n =k 1

n

P
4

8 9
k

n

　なので、 

　（与式）=
.n *

lim

1

32

5
0 1+n 1

5
n

2

> ?
1

n =k 1

n

P
4

8 9
k

n

= =
.n *

lim

1

32

5

8 9+1
1

n

2

> ?
1

n =k 1

n

P
4

8 9
k

n

=

1

32
2

8 9Q 0
1

4x dx

=
1

32

1
2

8 90
1

< =
1

5
5x

25

32

              

(5)  
.n *
lim

1

n
log > ?%%%%

n

n

+n 2

n

+n 4

n
…

+n 20 1-n 1

n

　  =
.n *

lim
1

n =k 0

-n 1

P log
+n 2k

n

=
.n *

lim
1

n =k 0

-n 1

P log> ?+1 28 9
k

n

= =Q 0
1

log0 1+1 2x dx =-
0

1

< =
1

2 0 1+1 2x log0 1+1 2x Q 0
1

dx -
3

2
log3 1

(6)  
.n *

lim
1
6

n =k +n 1

2n

P
5

k

　  =
.n *

lim
1

n =k +n 1

2n

P
5

8 9
k

n

=
.n *

lim
1

n =k 1

n

P
5

8 9
+n k

n

=
.n *

lim
1

n =k 1

n

P
5

8 9+1
k

n

= =Q 0
1

5
0 1+1 x dx =

0

1

< =
1

6
6

0 1+1 x =-
64

6

1

6
=

63

6

21

2


